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Q1. Consider the following statements with respect to Natural farming:

1. In natural farming, external agricultural inputs such as rock phosphate, biopesticides and biofertilizers
are used but not in organic farming.

2. Organic fertilizers are used in Natural farming but not in organic farming.

3. Plowing, tilting, mixing manure, weeding, and other fundamental agro activities are required in natural
farming but not in organic farming.

Which of the above statement/s is/are NOT correct?

a.Only 1 and 2
b.Only 2 and 3
c.Only1and 3
d. All of the above

Q2. On which of the following can you find the Bureau of Energy Efficiency Star Label? [UPSC CSE Pre

2016]
1. Ceiling fans

2. Electric Geysers
3. Tubular fluorescent lamps

Select the correct answer using the code given below.

a) 1 and 2 only
b) 3 only
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¢)2 and 3 only
d)1,2and 3

Q3. Consider the following statements about International Renewable Energy Agency (IRENA):

1. The International Renewable Energy Agency (IRENA) is an intergovernmental organisation that supports
countries in their transition to a sustainable energy future.
2. India is the Founding Member of IRENA.

Which of the statement/s given above is/are correct?

a) 1 only

b) 2 only

c) Both 1 and 2
d) Neither 1 nor 2

Q4. Consider the following statements regarding the provisions of Sedition law in India-

1. The roots of Sedition law can be traced to colonial rule but it was explicitly dropped in the text of the
constitution of India.

2.In 1951, the Punjab High Court ruled Section 124A of Indian Penal code to be constitutional.
Choose the CORRECT answer using the codes given below:

a) 1 only

b) 2 only

c) Both 1 and 2
d) Neither 1 nor 2

Q5. With reference to National Population Register, consider the following statements:

1. NPR is a database containing a list of only citizens of the country.
2. Its objective is to have a comprehensive identity database of people residing in the country.

Which of the statements given above is/are correct?

a) 1 only

b) 2 only

c)Both 1 and 2
d) Neither 1 nor 2
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